SCORING ZONES & HCP REQUIREMENTS
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COMPLETE SCORING CHART

N.V.  Vulnerable

Minor suits

Tricks score
20 pts. each

Major suits

Tricks score
30 pts. each

No trumps

Ist trick = 40 pts
Others = 30 pts

Examples
N.V. contract of 2% (making 8 tricks)
2x30+50 =110

N.V. contract of 2% (making 10 tricks)
4x30+50 =170

N.V. contract of 4% (making 10 tricks)
4x30+300 =420

Penalties for each
undertrick are :

Non-Vulnerable = 50
Vulnerable = 100

DOUBLED CONTRACTS
(Shown in bidding boxes as X)

If a contract has been Doubled
the penalties increase for each
undertrick as follows:

NON-VULNERABLE.

1 down = -100
2 down = -300.
3 down = -500,
4 down = -800
VULNERABLE.
1 down = -200
2 down = -500.
3 down = -800,

4 down = -1100

Grand slam bonus

NV Val. INT || 1520 2220
1000 1500 76 1510 2210 (1500 + 500)
(plus your game bonus.) 7y 1510 2210
76 1440 2140
L) 1440 2140
Small slam bonus ONT ]| 990 1440 630+
N.V. Vul. 6a || 980 1430 (750 +500 )
>00 730 6% || 980 1430
(plus your game bonus.) 6¢ 920 1370
6ot 920 1370
SNT 460 660
5 450 650
5V 450 650
5¢ 400 600
G Sehe 400 600
N'cz/l.ne score b\?lﬁ.us aNT I 430 630
300 500 460 |1 420 620 (4x30 + 500)
49 420 620
*1 ¢ 130 * Only
*4* 130 part scores
3NT 400 600
3A 140 (3x30 + 50)
3V 140
Part score bonus 3o 110 (320 + 50)
S0 3% || 110
2NT 120
24 110
29 110
24 90
L) 90
INT 90
16 || 80 (30 + 50)
19 80
14 70 (20 + 50)
leb 70
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